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QUESTION 1

When installing the Backup-Archive client software, which additional component can be installed by choosing the
Custom installation? 

A. the web client 

B. the client API files 

C. the administrative command line client 

D. the Backup-Archive client command line 

Correct Answer: C 

 

QUESTION 2

What is the purpose of the command query systeminfo? 

A. It shows the system state of the OS. 

B. It collects information that helps to analyze the client problem. 

C. It shows the IBM Tivoli Storage Manager (TSM) options (client and server). 

D. It shows the complete TSM status (client and server). 

Correct Answer: B 

 

QUESTION 3

What are two characteristics of Microsoft Windows Volume Shadow Service (VSS) fast restores using Data Protection
for Microsoft Exchange Server? 

A. Restore granularity is at the mailbox level. 

B. Only full and incremental backup types can be restored. 

C. It supports restoring a VSS backup to an alternate database. 

D. Any backup to LOCAL can be restored only to the same system. 

E. It does not support restoring a VSS backup to an alternate database. 

Correct Answer: CD 

 

QUESTION 4

The IBM DB2 command runstats performs which function? 
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A. It reorganizes the IBM Tivoli Storage Manager (TSM) database. 

B. It resets the TSM database table schema. 

C. It updates statistics on tables and indexes. 

D. It displays statistics on the database and indexes. 

Correct Answer: C 

 

QUESTION 5

What is the first step to isolate the problem if multiple clients\\' backups failed? 

A. Restart client nodes. 

B. Check client error log files. 

C. Check whether storage pools are available. 

D. Query the Tivoli Storage Manager server activity log. 

Correct Answer: BD 

 

QUESTION 6

A. It cannot be added to a backup set. 

B. It performs a full or differential backup. 

C. All objects in the group are expired together. 

D. It uses different management classes for the objects. 

E. Existing exclude statements for any files in the group are honored. 

Correct Answer: BC 

 

QUESTION 7

A customer has recently purchased six LTO Ultrium Generation 6 tape drives to add to their existing library that is
already populated with four LTO Ultrium Generation 5 tape drives. What would be the maximum setting for the
MOUNTLIMIT parameter in the device class for the LTO5 tape drives? 

A. 4 

B. 6 

C. 8 

D. 10 
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Correct Answer: B 

 

QUESTION 8

In the Primary Storage Pool definition, autocopy=migrate is defined in FILEPOOL2 and TAPEPOOL. What are two
consequences if the target (next) storage pool in a hierarchy (FILEPOOL2) cannot contain the data being migrated, and
it is necessary to overflow to its next storage pool (TAPEPOOL)? 

A. Simultaneous write is disabled. 

B. TAPEPOOL inherits the copy pool list for FILEPOOL2. 

C. The server uses the inheritance model to create the copies. 

D. COPYPOOL2 is used because it is defined to TAPEPOOL. 

E. COPYPOOLI1 and COPYPOOL2 is used because the definitions of FILEPOOL2 and TAPEPOOL are inherited. 

Correct Answer: D 

 

QUESTION 9

What is the default setting for collocation when a primary sequential access storage pool is defined? 

A. collocation no 

B. collocation yes 

C. collocation group 

D. collocation filespace 
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Correct Answer: C 

 

QUESTION 10

If the Tivoli Storage Manager server option file has a duplicate entry for an option, which entry will be used? 

A. the default value 

B. the first occurrence 

C. the last occurrence 

D. the server issues an error and shuts down 

Correct Answer: A 

 

QUESTION 11

Which two components of the IBM Tivoli Storage Manager V7.1 server must be considered and adjusted during
installation if simultaneous write to copy pools will be used? 

A. the active log 

B. the archive log 

C. the db2diag log 

D. the DB2 database 

E. the failover archive log 

Correct Answer: AB 

 

QUESTION 12

Which task or process can be included in an administrative schedule? 

A. client backup 

B. import database 

C. ingestion of data 

D. database backup 

Correct Answer: D 

 

QUESTION 13
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Why is validate policyset run before activate policyset? 

A. To verify if the definitions are consistent. 

B. To verify that the policies can be overwritten. 

C. To verify that the active policyset is not in use. 

D. To verify permissions are available to change the policies. 

Correct Answer: A 

 

QUESTION 14

What must an administrator insert at the beginning of the line in the Tivoli Storage Manager server option file to
comment out or temporarily disable an option? 

A. * 

B. # 

C. % 

D. REM 

Correct Answer: B 

 

QUESTION 15

An IBM Tivoli Storage Manager (TSM) administrator has a request to restore a full virtual machine. She does not have
access to the TSM for Virtual Environments plug-in but does have access to the Backup-Archive client. Which criteria
must be met to instantly restore a VMware virtual machine? 

A. The remote recovery option should be enabled at the vSphere. 

B. The customer must be licensed to use TSM for Virtual Environments. 

C. VMware virtual machines must be hosted on VMware ESXi 5.1 servers or later. 

D. The Backup-Archive client option file should have VMRECOVER=YES option set. 

Correct Answer: C 
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